Оформление классной доски.

Пример 13.28                                                            Пример 13.29

  (подсчёт)                                                                   (замена)





I=1,Length(W)











N=N+1





Нет





I=1,Length(W)











B=Copy(W,I,1)





B=L








Да








B=Copy(W,I,1)








B=’A’








B=’O’





Да








Нет





Y=Y+B





Пример 13.30�   (вставка)





Пример 13.32�    (удаление)





Y=Y+B





Нет





Да








Да








Нет





Y=Y+B





Y=Y+’;’





B=’  ‘








B=’A’








B=Copy(W,I,1)








B=Copy(W,I,1)








I=1,Length(W)











I=1,Length(W)

















